MAKO Puzzles

In How Many Points Can Six Lines Meet?

Given six infinite straight lines in the plane, no three through the same point, what are the possible
numbers of intersection points? For example, with three lines, the possibilities are 0 (three parallel
lines), 2 (two parallel lines and a transversal), or 3 (no lines parallel). Note that 1 cannot occur
because of the restriction that no three lines pass through the same point.

Which Value Gives a Unique Solution?

For which value of a > 1 does the equation a* = x have a unique solution?

Find the Area of the Hexagon

In the figure below, AB=7, BC=6, and CA=5. The quadrilaterals ABQP, BCSR, and CAUT are all
squares. Find the area of the hexagon PQRSTU.
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A Classic Problem from the late John H. Conway

There is a 10-digit decimal number, abcdefghij. Each of the digits is different, and they have the
following properties:

ais divisible by 1

ab is divisible by 2

abc is divisible by 3

abcd is divisible by 4

abcde is divisible by 5
abcdef is divisible by 6
abcdefg is divisible by 7
abcdefgh is divisible by 8
abcdefghi is divisible by 9
abcdefghij is divisible by 10

Find it.



Rules for playing KENKEN®

1) Choose a grid size.

2) Fill in the numbers from 1 to grid size.

3) Do not repeat a number in any row or column.

4) The numbers in each heavily outlined set of squares, called cages,
must combine (in any order) to produce the target number in the top
corner using the mathematical operation indicated.

5) Cages with just one square should be filled in with the target number
in the top corner.

6) A number can be repeated within a cage as long as it is not in the

same row or column.
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More KenKen at https://www.kenkenpuzzle.com/nydaily and http://www.kenken.com



